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[[=(va 2 2B & —JLNo. EAT) VAP R1 R2 /R
1 1 133154 /NgE 1l STD 1 1 3 3 4
2 2 184057 4Ll STD 5 1 1 6
3 1 210513 /AR #HE RAD 4 10 10 14
4 2 181193 A & RAD 11 11 7 7 18
5 3 206509 1Ly #k RAD 8 8 11 11 19
6 4 R b HEH BHE RAD 18 18 2 2 20
7 5 BT X b A fEKER RAD 13 13 8 21
8 6 9906 T H HEBD RAD 12 12 9 21
9 7 156030 X[ &H RAD 14 14 13 13 27
10 8 127393 KR RAD 9 9 23 23 32
11 9 196468| B8  MF RAD 21 21 12 12 33
12 10 182306| T HK RAD 20 20 14 14 34
13 11 66 /NIl ER] RAD 17 17 17 17 34
15 12 202611 &8 MW=F RAD 2 2 DNC 33 35
14 13 186612 JIZES HKNE RAD 15 15 20 20 35
16 14 180159 R #EiE RAD 3 3/DNC 33 36
17 199069 % STD |DNC 33 4 37
19 4 203080 | #azk STD |DNC 33 5 38
18 15 217012 # L+ & RAD 22 22 16 16 38
20 16 199066 fEO RAD 6 6 DNF 33 39
21 5 164166|3EHA =% STD |DNC 33 6 6 39
23 17 151791 | & S RAD 7 7/UFD 33 40
22 18 194920 £H RAD 19 19 21 21 40
24 19 208948 57 £ RAD 23 23 18 18 41
25 6 158576 ME STD 10 10|DNC 33 43
26 20 112015 mF & RAD 24 24 22 22 46
27 21 210516 BE A RAD 27 27 19 19 46
28 22 196889 | [R RAD |UFD 33 15 15 48
29 23 209502 | #A = RAD 16 16|UFD 33 49
30 1 150176 =% 4.7 26 26 24 24 50
31 24 201484 | 1LH RAD 25 25 DNC 33 58
32 7 168401 |%=H STD |DNC 33 DNC 33 66
Em 40° 230°
JE:Be 3m 2~1m
2 & — hEEZ 10:30 13:31




